FillNumber=15397

Run Range (12094059 , 12095023 )

Blue 0-59 i+ -+-——+—-4++-+-——+—-F++ -+ -+ —++ -+ -——+—

Kkkkkkkkkk+ =+ ==+ —+ + =+ ——+ —+ + —+ —

Blue 60-120 -+ -++ -+ -4 -4+ -+ -+ —++ -+ -+ -+ + -+ ——+—

++ -+ -—+ -+ + —+ ——+ —kkkkkkkkk

Yellow 0-59 ++-—++-——4++-——++-—-++-——++-——++-——++—

Kkkkkkkkkk+ + ——+ + ——+ + ——+ + ——+ + ——

Yellow 60-120:++——++——++—++——++ ——++——++——++——++ ——

++ -—++ -—++ ——+ + -kkkkkkkkk

FillNumber=15312

Run Range (12079004 , 12079005 )

Blue 0-59 i+ -—+-—+-—4++-+-——+—-F++ -4+ -+ —-++ -+ -——+-—

kkkkkkkkk+ -+ ——+ —++ -+ ——+ —++ -+ -

Blue 60-120 =+ -++ -+ -4+ -4+ -+ -+ -++ -+ -+ -+ + -+ ——+—

++ -+ -—+ -+ + —+ ——+ —kkkkkkkkk

Yellow 0-59 i=——++ -4+ -—++——++——-++——++——++——

+ kkkkkkkkk——++ ——++ —++ —++ —++

Yellow 60-120:=——++ —++ ——++——++——++ ——++ ——++ ——+ + ——

++ -—++ -—++ ——+ + —-—+ kkkkkkkkk

FillNumber=15314

Run Range (12079025, 12080005 )

Blue 0-59 =+ -++-—+-——+ -4+ -+ -+ —-F++ -+ -+ -++-

+ kkkkkkkkk—+ -+ + -+ -——+—++ -+ ——+ —+

Blue 60-120 +-+-—4 -4+ -4+-——-+-++ -+ -+ —F++—+——+—++ -+ ——

+—++ -+ ——+ -+ + -+ kkkkkkkkk

Yellow 0-59 i=——++ -4+ -—++——++ -+ +——++——++——

+ kkkkkkkkk——++-——++ —++ —++ —++

Yellow 60-120:=——++ ——++——++——++——++ ——++ ——++ ——+ + ——

++-—++——++ ——++ ——+ kkkkkkkkk

FillNumber=15315

Run Range (12080010, 12080020 )

Blue 0-59 +-—+-—+—-4++-+-——-+—-F+ -+ -+ -++ -+ -——+—

kkkkkkkkk+ -+ ——+ —++ -+ -——+—++ -+ -

Blue 60-120 -+ -++ -+ -4 -4+ -+ -+ -++ -+ -+ -+ + -+ ——+—

++ -+ -—+ -+ + —+ ——+ —kkkkkkkkk

Yellow 0-59 ++-—++-—4+-——++-——-++-——-++-——++-——++—

kkkkkkkkk++——++-——++-——++-——++——

Yellow 60-120:++——++—++—++——++—++——++——++——++——

++ -—++ ——+ + ——+ + —~kkkkkkkkk

FillNumber=15316

Run Range (12080052, 12080070 )

Blue 0-59 4+ —-+-—-4+—-4++-+-——-F -4+ -4+ -+ -++ -+ -——+-

kkkkkkkkk+ —+ ——+ -+ + —+ ——+ -+ + —+ —

Blue 60-120 -+ -++ -+ -4 -4+ -+ -+ -++ -+ -+ —-++ -+ -——+—
+ -+ -—+ -+ + -+ ——+ —kkkkkkkkk

Yellow 0-59 ++-—++-—4+-——-++-——-++-——-++-——++-——++—

kkkkkkkkk++-——++-——++-——++-——++——

Yellow 60-120:++——++-—++—++—++—++——++——++——++——

++ —-—++ ——+ + ——+ + —kkkkkkkkk

FillNumber=15322

Run Range (12081009 , 12081029 )

Blue 0-59 =+ -—++-—+-——4 -4+ -+ -——F—-F++ -+ -——+-++-

+ kkkkkkkkk—+ —+ + -+ ——+ —+ + —+ ——+ —+

Blue 60-120 +—+-—"4 -4+ -4+-——+-++—-—+-——F+—-++-—+——+—-++ -+ ——

+ -+ + -+ ——+ -+ + -+ kkkkkkkkk

Yellow 0-59 ++-—++-—F+-——++-——++-——F++-——++-——++—

kkkkkkkkk++-——++-——++-——++——++ ——

Yellow 60-120:++——++-—++—+F+—++——++——F++——++-——++——

++ -—++ ——+ + ——+ + —-kkkkkkkkk

FillNumber=15324

Run Range (12081050, 12082014 )

Blue 0-59 +—+-——+—-++-+——F+—++ -+ -+ -+ -+ ——+-

kkkkkkkkk+ —+ ——+ -+ + —+ ——+ —+ + —+ —

Blue 60-120 -+ -++-—+-—4+ 4+ -4+ -+ -++ -+ -+ —-++-—+-——+—

++ -+ ——+ -+ + —+ ——+ —kkkkkkkkk

Yellow 0-59 (——++-——F++-—F+——F+-——F+-——++-——++——

+ kkkkkkkkk—=++ ==+ + ==+ + ——++ ——+ +

Yellow 60-120:——++ ——4++ —++——++——++——++——++——++——

++ ——++ ——++ ——+ + ——+ kkkkkkkkk

FillNumber=15325

Run Range (12082022, 12082024 )

Blue 0-59 =+ -—++-—+-——F -4+ -+-——F-F++ -+ -——+-++-

1111111 e L a4y

FillNumber=15359
Run Range (12086028 , 12086028 )
Blue 0-59 =+ —++-—+-—+-—++-+-——+—-++-+-——+—-++-
+ kkkkkkkkk=+ =+ + =+ ==+ =+ + =4+ ——+ -+
Blue 60-120 4+ —+-—4—++-—+-——+—++—+-——+—++ -+ -——F+—++ -+ ——
+ -+ + -+ —-—+ -+ + -+ kkkkkkkkk
Yellow 0-59 i(——++-——++-—++-—++-——++-——++-——++——
+ kkkkkkkkk——+ + ==+ + ——+ + ——+ + ——+ +
Yellow 60-120:——++—++——++——++——++——++——++——++——
++ -——++ -——++ ——+ + ——+ kkkkkkkkk
FillNumber=15363
Run Range (12086032, 12087007 )
Blue 0-59 =+ —++-+-—+-—++-+-——+—-++-+-——+—++-
+ kkkkkkkkk—+ —+ + =+ ——+ —+ + =+ ——+ —+
Blue 60-120 4+ —+-—4—++-—+-——+—++—+-——+—++ -+ -——F+—++ -+ ——
+ -+ + -+ —-—+ -+ + -+ kkkkkkkkk
Yellow 0-59 i(——++-——++-—++-—++-——++-——++-——++——
+ kkkkkkkkk——+ + ==+ + ——+ + ——+ + ——+ +
Yellow 60-120:——++——++ ——++——++——++——++ ——++——++ ——
++ -——++ -——++ ——++ ——+ kkkkkkkkk
FillNumber=15364
Run Range (12087010, 12087057 )
Blue 0-59 +-—+-—+-—++-+-——+—++-—+-——+—++—-+-——+—
KKKKKKKKK+ =+ ==+ =+ + =+ ==+ —+ + —+ —
Blue 60-120 -+ -++ -+ -——4 -4+ -+ -+ —F++ -+ ——F+ -+ + —+ ——+ —
++ -+ -—+ -+ + -+ ——+ —kkkkkkkkk
Yellow 0-59 ++——++-——++-——++-——++-——++-——++-——++—
KKKKKKKKK+ + ==+ + ==+ + ——+ + ——+ + ——
Yellow 60-120:++——++-—++—++—++——++——++——++——++——
++ -—++ -—+ + ——+ + —kkkkkkkkk
FillNumber=15365
Run Range (12087076 , 12087102 )
Blue 0-59 =+ -++-—+-——+ -4+ -+ -+ -+ -+ -+ -—++ -
+ kkkkkkkkk—+ —+ + -+ ——+ —+ + =+ ——+ —+
Blue 60-120 +-+-——4 -4+ -4+ -+ -++ -+ -+ —-F++—+——+—++—+——
+—++ -+ -—+ -+ + -+ kkkkkkkkk
Yellow 0-59 ++-——++-——4++-——++-——-++-——++-——++-——++—
Kkkkkkkkkk++ ——++ ——+ + ——+ + ——+ + ——
Yellow 60-120:++ ——++——++——++——++——++——++——++——++ ——
++ -—++ —-—+ + ——+ + —kkkkkkkkk
FillNumber=15366
Run Range (12088030, 12088035 )
Blue 0-59 i+ -+ -+ -—F++ -+ -+ —F+ -+ -+ —F+ -+ -+
KkKkKkkkkkkk+ =+ ==+ -+ + =+ ——+ —+ + —+ —
Blue 60-120 =+ -4+ -+ -+ -+ +—F——F -+ + -+ ——F —++ —+ ——+ —
+ -+ -—+ -+ + -+ - -+ —kkkkkkkkk
Yellow 0-59 (=——++-——++-——++-——++——++——++——++——
+ kkkkkkkkk——++ ——++ ——++ ——++ —++
Yellow 60-120:=——++ ——++——++——++——++ ——++ ——++ ——+ + ——
++ -—++ -—++ ——+ + ——+ kkkkkkkkk
FillNumber=15368
Run Range (12088075, 12088090 )
Blue 0-59 =+ -—++—-+-——4 -4+ -+ -+ -—++ -+ -+ -++-
+ kkkkkkkkk—+ -+ + -+ -——+ —++ -+ ——+ —+
Blue 60-120 +-+-—4 -4+ -4+ -+ -++ -+ -+ —-F++—+——+—++—+——
+ -+ + -+ —-—+ -+ + -+ kkkkkkkkk
Yellow 0-59 (=——++-——++-——++-——++——++——++——++——
+ kkkkkkkkk——++ ——++ ——++ —++ —++
Yellow 60-120:=——++ ——++——++——++——++ ——++ ——++ ——++ ——
++ -—++ ——++ ——+ + ——+ kkkkkkkkk
FillNumber=15370
Run Range (12089011, 12089011 )
Blue 0-59 +-+-——+—++ -+ -+ -+ -+ =+ -+ -+ =+
kkkkkkkkk+ -+ ——+ —++ -+ -——+ —++ -+ —
Blue 60-120 =+ -—++ -+ -+ —++ -4+ -+ -++ -+ ——+—-++ -+ ——+—
++ -+ -—+ -+ + -+ ——+ —kkkkkkkkk
Yellow 0-59 ++-——++-——4+-——-++-——-++-——++-——++-——++—
kkkkkkkkk++-——++-——++-——++-——++——
Yellow 60-120:++——++—++—++—++——++——++——++——++——
++ -—++ -—+ + ——+ + —kkkkkkkkk
FillNumber=15372

FillNumber=15384
Run Range (12092035, 12092046 )
Blue 0-59 +-+-——F-++ -+ -++ -+ ——+—++ -+ -——+-
KKKKKKKKKk+ =+ ==+ =+ + =+ ==+ =+ + —+ —
Blue 60-120 =+ -4+ -+ =+ —++ -+ ——F+ =+ + —F ==+ -+ + —+ ——+ —

+ -+ ——+ -+ + -+ ——+ —kkkkkkkkk
Yellow 0-59 ++-——++-——++——++ ——++ ——+ + ——+ + ——+ + ~kkkkkkkkk+ + —
—+ 4+ ——t+ -+ + -+ +——
Yellow 60-120:++——++ -4+ -——++——++——++——F++——++——++——
++ ——++ ——++ ——+ + —kkkkkkkkk
FillNumber=15386
Run Range (12092047 , 12093014 )
Blue 0-59 +—+-——+-—++-+-——+—++-+-—F+—++-+-——+-
kkkkkkkkk+ =+ ==+ =+ + =+ ——+ =+ + =+ —
Blue 60-120 -+ —++ -+ —+—++—+——F—F++ -+ ——F+—++—+——+—
++ -+ ——+ -+ + -+ ——+ —kkkkkkkkk
Yellow 0-59 ++-—++-—++-—++-——++-——++-——++-——++—
kkkkkkkkk+ + ==+ + ——++ ——+ 4+ ——+ + ——
Yellow 60-120:++——++——++——++——++——++——++——++——++——
++ ——++ ——++ ——+ + —kkkkkkkkk
FillNumber=15390
Run Range (12093021, 12093025 )
Blue 0-59 i—+-4++-+-——+—++-+-——F—-++-+-——+—-++-
+ kkkkkkkkk=+ =+ + =+ ==+ =+ + =+ ——+ —+
Blue 60-120 + -+ -——+-—++-—+-——F+—F++ -+ ——F—F++ -+ ——+—++—+——
+ =+ + —+ ——+ —+ + —+ kkkkkkkkk
Yellow 0-59 ++-—++-—++-—++-——++-——++-——++-——++—
kkkkkkkkk+ + ==+ + ——++ ——+ + ——+ + ——
Yellow 60-120:++-——++——++——++——++——++——++——++——++——
++ ——++ ——++ ——+ + —kkkkkkkkk
FillNumber=15392
Run Range (12093029, 12093051 )
Blue 0-59 +—+-——+-—++-+-——+—++-+-——F+—++-+-——+-—
kkkkkkkkk+ =+ ==+ =+ + =+ ——+ =+ + =+ —
Blue 60-120 -+ —++ -+ —+-—++—+——F+—F++—+——F+—++—+——+—
++ -+ ——+ -+ + -+ ——+ —kkkkkkkkk
Yellow 0-59 (——++-—++-——++-——++-——++-——++-——++——
+ kkkkkkkkk——+ + ==+ + ==+ + ——+ + ——+ +
Yellow 60-120:——++——++ ——++ ——++ ——++ —++ ——++ ——++ ——
++ —-—++ ——++ ——+ + ——+ kkkkkkkkk
FillNumber=15393
Run Range (12094008 , 12094026 )
Blue 0-59 -+ -++-+-——+—++-+-—F—-++-+-——+—-++-
+ kkkkkkkkk—+ =+ + =+ ==+ —+ + =+ ——+ —+
Blue 60-120 + -+ -+ -—++-—+——F+—-++ -+ ——F—-F++ -+ ——+—++—+——
+ -+ + -+ ——+ -+ + -+ kkkkkkkkk
Yellow 0-59 (——++-—++-——++-——++-——++-——++-——++-——
+ kkkkkkkkk——+ + ==+ + ==+ + ——+ + ——+ +
Yellow 60-120:——++ ——4++ ——++——++ ——++ ——F + ——++ ——+ + ——F + ——+ + ——
++——++ ——+ kkkkkkkkk
FillNumber=15397
Run Range (12094059 , 12095023 )
Blue 0-59 i+ —+-——+-—++-+-——+—++-+-——+—++-+-——+—
KKKKKKKKK+ =+ ==+ =+ + =+ ——+ =+ + —+ —
Blue 60-120 -+ —++ -+ ——+ -+ + -+ ——F -+ + -+ ——F+ —+ + —+ ——+ —
++ -+ -—+ -+ + -+ ——+ —kkkkkkkkk
Yellow 0-59 ++-——++-—++-—++-——++-——++-——++-——++—
KKKKKKKKK+ + ==+ + ——+ + ——+ + ——+ + ——
Yellow 60-120:++-——++——++——++——++——++——++——++——++ ——
++ -—++ ——+ + ——+ + —kkkkkkkkk
FillNumber=15399
Run Range (12095037 , 12095067 )
Blue 0-59 i—+-4++-+-——+—++-—+-——F+—++-+-——+—++-—
+ kkkkkkkkk—+ =+ + =+ ==+ —+ + =+ ——+ —+
Blue 60-120 4+ -+ -+ -4+ -+ ——F+—++ -+ ——F -+ + -+ ——+—++ —+ ——
+ -+ + -+ ——+ -+ + -+ kkkkkkkkk
Yellow 0-59 ++-——++-—++——++——F+——++—-——++-——++ - 1
KKKkKKKKKk+ + ——+ + ——++ ——+ + ——+ + ——
Yellow 60-120:++——++ -4+ ——++ -+ +——++——++ ——++ ——++ ——
++ -—++ ——+ + ——+ + —kkkkkkkkk

FillNumber=15402
Riirn Ranaa (19006004 1900RNNA )



| Black: North Counts Red: South Counts
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Events: b1l sets;
JP2 triggers;
N12=2;
07<M12<.27 GeV,
E12>100GeV,
3.25<Eta<4.05;
abs(cos(phi))>.5

Top: Counts per bunch
(Black:North Red: South)

Bottom Right: Blue Cross Ratio per

Black: North Counts Red: South Counts
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We ran with 4 spin patterns (numbered 0-3)
This is a plot of spin pattern number vs Day.Run number.
(All jetpath II triggers)
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North — U/D Yellow Asymmetry vs Bunch
distribution
For each of 4 spin patterns
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North — U/D Blue Asymmetry vs Bunch distribution

For each of 4 spin patterns
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(North-South)/(North+South):
N12==1 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig==JetPatch2
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(North-South)/(North+South):
N12==1 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig==JetPatch2

Spin Set 0
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(North-South)/(North+South):
N12==1 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig==JetPatch2
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(North-South)/(North+South):

N12==1 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig==JetPatch2

Spin Set 2
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(North-South)/(North+South):
N12==1 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig==JetPatch2
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Comparison of Y and B Asymmetries from:
» Cross Ratio

 Left Right Asymmetry from each spin set.

_ #North —# South

Ps = # North + # South
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Yellow AN
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Calculate yellow and blue AN for:

N12==1 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig=

Independent measurement for each of 4 spin sets.
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Yellow AN

-0.001}

-0.002

-0.003

-0.004

Calculate yellow and blue AN for:
N12==2 && Abs(Eta-3.65)<.4 && abs(cos(Phi))>.5 && Trig==JetPatch2

Independent measurement for each of 4 spin sets.
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